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; 100kN/mMZ#8% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z — -~ — — |3mZE#BZ B - ~ — — —
ZznLst 1.00 | 0.00 ~ 4.77 59.41 | =hst | 0oo ~ 000|176 8.88 ZznLst 1.00 | 5.00 ~ 5.00 59.41 | =S | 5.00 ~ 5.00)|1.76 8.88
2 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ — — —
ZznLst 1.00 | 0.00 ~ 691 87.62 | #nLS | 000 ~ 691|268 13.67 Fhn s 1.00 | 6,00 ~ 1200 87.62 | #nLSY | 5,00 ~ 1200 2.68 13.57
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ZznLst 1.00 029 ~ 808 100.00 | #nS | 0.00 ~ 808|245 12.39 zhnLs 1.00|5.00 ~ 11.76| 100.00 | ThLSY | 5,00 ~ 1262 | 2.45 12.39
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